FHEEEH -

(FHEEE

(R1:EXZVETHXREBORIE 1 FHOFTLS)

LHDOEEXEIL

0 —-Qn#HfTELH

X & (X1)

i 3 [ bl =

B M L

%

%

%

%

7 N I

H BB B XH

100%

X1 XERICE. BAREEEZESFOMOBES MO BEERERLEH,
(R2  &HE1MARICETSEFREROFTLRM-SDHLHIEEFEDT LRMDES)

EEEAOKE1NAMOFELRM [a] M

EEXEOZIE 1 MAAMOFELRM [(b] M

[b] / [a] x100 %
(RS HEXREICHRAIFHFORI 1 MARDEAEMD ER)

RBEFOHKIE1MAAD [FimFDRIER A D [FmFOLAEMD

F 4t A B F 4t A B ER=E
(E/ e x100—100)
HHERE M [E] M (el %

(R4 BEXERUVEEREARETNENDFTLRMICEH O 2 FBFOLEAMEDEE)

=i 1M ARED

il 1 ARGk LR

FLRMEICEDH S

5t L IR i [SHIEY B IRBEFD [FmF DL AMED
(Nl &l& (S/Cx100)
HEXRE A [C] A [s] %
=S 123 A [C] A [s] %
(k5 HEFERUVEELZERETNENOERFHE~DEZEDIKI)

R 3MAM HAIHARD BIERBD | BIERHD (A/B) —
DIEHFED bl = (A/B)  |[FimFEDLEA| 5TLS [b] (a/b) | (a/b) =
Nk ff+& [al P

HRE M M M M
E 35 (A) (B] (a) (b]
N1SE 3 M M M M
7 [A) (B] (a] (b]

(GE) BFECHELTIE, HEREBICETIEREZEATVDCEABHBATESEESF (BRI, B
Uik->TLWAHHGE - —ERAFZHATEHEH. HFRAALE) . LEOFBEFOLAME. 5
tRER VTR LEEAINHEHF BIZAE, HER. TLEERGLE) ORENIBE,




